Automating Tomorrow™ @ESTQC ()
) a TIIE) company

Quick Start Guide

Multi-Mount Tool Extension | Tool Extension

Werkzeugerweiterung | Extension d’outil | Extensién de herramienta | TEY &

SPR @)

Small Payload Robot Solutions

destaco.com



MULTI-MOUNT TOOL EXTENSION .

Quick Start Guide SPR /o

Small Payload Robot Solutions

TE-050-01 B What's Included?
Robot Adapter Kit

Was ist inklusive?

Roboter-Adapter-Kit Ce qui est inclu?
Kit d’adaptateur de robot Qué estd incluido?
Kit adaptador de robot Bata
NBABERRER
Item Description g
1 TE-050-01 1 ‘
2 @6 x 12mm Dowel Pin 1 :
3 M6 x 12 Screw 4 g o
4 5mm Hex Key Wrench 1 ||
b—(4)

6[0.24]T

N .
(: Mounting

Montage 6102417

Montaje
2k
EXS

4X Mé6

[@1.24]
231.5 (H7) =
610.24]1

[21.97]

@50

[22.48]
263 (M8)

1SO-9409-1-50-4-Mé
Robot Mounting Pattern

7.3 Nm
[64.6 in-Ib] A

@ESTF’CD
a I company



Small Payload Robot Solutions

TE-25XX

Extension Kit

Verléngerungsarm
bras d’extension
brazo extensor

ERE

MULTI-MOUNT TOOL EXTENSION

Quick Start Guide
What's Included? x Mounting
Was ist inklusive? Montage
Ce qui est inclu? . Montaje
Qué estd incluido? - T
BaEta

Item Description Qty 7.3 Nm
MM-25XX 1 . [64.6 in-Ib] (9.2 5

»

2 M6 Spring Lock Washer 1

3 M6 Screw 1 \(“ Qj)

MM-T-01
Tool Plate Kit

Werkzeugplattensatz
Kit de plaque & outils

Kit de placa de herramientas

TEREMN

]

= ®
= ' M
- — &

2 .
a What's Included? Mounting

Was ist inklusive? Montage

Ce qui est inclu? Montaje
TR

Qué estd incluido?
@,/E\H'Z\ Machining Required

Bearbeitung erforderlich
Usinage requis
Maquinado requerido
FEMT

/R

Item Description Qty 7.3 Nm
1 Tool Plate; MM-T-01 1 [64.6 in-lb]

@ESTQCD
a I company




MULTI-MOUNT TOOL EXTENSION

Quick Start Guide SPR. ]

Small Payload Robot Solutions
MM-T-02 What's Included? Mounting @54y
Tool Plate Kit Was ist inklusive? Montage o
Werkzeugplattensatz Ce qui est inclu? Montaje
Kit de plaque & outils Qué estd incluido? T
Kit de placa de herramientas BaftAa x90°

TEIREMH

[@1.24]
— 231.5 (H7) =
610.24]T

[21.97]

250

/TR [@2.48]
[N ' 263 (8

3 / 5

8 £,
Item Description Qty 7.3 Nm ) (
1 Tool Plate; MM-T-02 1 [64.6 in-lb] i

MM-T-03 What's Included? Mounting

Tool Plate Kit Was ist inklusive? Montage
Werkzeugplattensatz Ce qui est inclu? Montaje
Kit de plaque & outils Qué estd incluido? LI

Kit de placa de herramientas BaEta

TEREH

Item Description Qty
1 Tool Plate; MM-T-03 1
2 @3 x 6mm Dowel Pin 2
3 &5 x 8mm Dowel Pin 2

4 M3 x 10 Screw 4

5 4

6 1

7 1

M5 x 8 Screw
2.5mm Hex Key Wrench

4mm Hex Key Wrench [64.6 in-lb]

@ESTF’CD
a I company




o

SPR|6)

Small Payload Robot Solutions

MM-T-04
Tool Plate Kit

Werkzeugplattensatz
Kit de plaque & outils
Kit de placa de herramientas

TEREMH

MULTI-MOUNT TOOL EXTENSION

Quick Start Guide
What's Included? »\/‘ Mounting
Was ist inklusive? Montage
Ce qui est inclu? Montaje
Qué estd incluido? =R
[ZEX A

Description Qty

1 Tool Plate; MM-T-04 1

2 @3 x 6mm Dowel Pin 2

3 M3 x 10 Screw 4 7.3 Nm %

4  2.5mm Hex Key Wrench 1 [64.6 in-Ib]
MM-T-05 What's Included? o Mounting
Tool Plate Kit Was ist inklusive? Montage
Werkzeugplattensatz Ce qui est inclu? Montaje
Kit de plaque & outils Qué estd incluido? ]
Kit de placa de herramientas Bafta
TEREH

Item Description

1 Tool Plate; MM-T-05 1

2 @3 x 6mm Dowel Pin 2

3 @5 x 8mm Dowel Pin 2

4 M3 x 10 Screw 4 N

5 M5 x 8 Screw 4 » (\ ;//}/E%\}\a”

6  2.5mm Hex Key Wrench 1 7.3 Nm | \(;Q:Qj'u

7 4mm Hex Key Wrench 1 [64.6 in-lb] \\@/

@ESTQCD
a ) company



MULTI-MOUNT TOOL EXTENSION

Quick Start Guide

MM-T-06
Tool Plate Kit

Werkzeugplattensatz
Kit de plaque & outils
Kit de placa de herramientas

TEREH

What's Included?

Was ist inklusive?
Ce qui est inclu?
Qué estd incluido?

BEfta
O,

ltem Description
1 Tool Plate; MM-T-06
2 @3 x 6mm Dowel Pin
3 M3 x 10 Screw
4 2.5mm Hex Key Wrench

GLOBAL LOGATIONS

NORTH AMERICA

Corporate Headquarters

Auburn Hills, Michigan

Toll Free: 1.888.DESTACO
Marketing: marketing@destaco.com

Global Technology Center

Auburn Hills, Michigan

Tel: 1.248.836.6700

Customer Service: customerservice@destaco.com

Mt. Juliet, Tennessee
Tel: 1.888.DESTACO
Customer Service: customerservice@destaco.com

Wheeling, lllinois
Tel: 1.800.645.5207

Customer Service: camco@destaco.com

Red Wing, Minnesota (Central Research Laboratories)
Tel: 651.385.2142
Customer Service: sales@centres.com

© Copyright, 2023 DESTACO. All rights for layout, photos and text rest with the publisher
DESTACO. All photomechanical or other reproductions only with our express permission.
All sales are based on our terms and conditions of sale, delivery and payment.

. \

SPR (B

Small Payload Robot Solutions

x Mounting
Montage

Qty

1
2
4
1

ASIA

Bangkok, Thailand

Tel: +66-2-326-0812

Customer Service: info@destaco.com
Shanghai, China

Tel: +86-21-6081-2888

Customer Service: china@destaco.com

Bangalore, India
Tel: +91-80-41123421-426
Customer Service: india@destaco.com

EUROPE

Oberursel, Germany
Tel: +49-6171-705-0
Customer Service: europe@destaco.com

Sainte Florine, France
Tel: +33-4-73545001

Customer Service: france@destaco.com

Wolverhampton, United Kingdom
Tel: +44-1902-797980
Customer Service: uk@destaco.com

Sant Boi de LLobregat, Spain
Tel: +34-936361680
Customer Service: spain@destaco.com

Lf|S8link.

CB_MMTE-QSG_0223



